Name: _______________________________
Using Rounding to Estimate the 

Total Price of Shopping
1. Tom bought 3 chocolate bars. He estimated them to be 30p, 50p and 80p, so the total would be about £1.60. The actual total was £1.63. What could the chocolate bars have cost? Find one way.
2. Jane bought 3 hair scrunches. She estimated them to be 40p, 20p and 70p, so the total would be about £1.30. The actual total was £1.34. What could the hair scrunches have cost? Find two ways.
3. Ben bought 3 books. He estimated them to be £1.20, £1.50 and £1.40p, so the total would be about £4.10. The actual total was £4.08. What could the books have cost? Find one way.
4. Nicola bought 3 balloons. She estimated them to be 60p, 40p and 20p, so the total would be about £1.20. The actual total was £1.25. What could the balloons have cost? Find five ways.

